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SECTION A

ANSWER ALL 15 QUESTIONS IN THIS SECTION

In a concrete mixture, cement, sand and gravel are mixed in the proportion 1:2:3.

(a) Find the fraction of sand used in the mixture.

......

2. (a) The scale of a map is 5 cm to | km. Express this as a ratio i
ST
....... Ko7 A00000n.. @
(b) The scale of a plan is 1:32. Find the actuaﬂ’engt
plan. ~ P
K.k
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(b) A function f:x +— Eéﬂ is defined on the set of real numbers. Find the element which is mapped onto itself. - ;

5. The exterior angles of a pentagon are given by x, x + 200} 3x 507, 2x yand x — 109, -
Calculate the value of x. / . / :
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- (6 marks)

2cm

(b) State its num

2cm

ber of edges
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e of a similar cone whose height is 8 cm. Give

1. A cone has a height of 5 cm and a volume of 62.8 cm’. Find the volum
: (5 marks)

your answer to one decimal place,

............................................................................
..............................................................................................................................
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8. Figure 2 is a (v — 1) graph where the distance covered is the area under the graph.
Determine the distance covered in 9 hours. ' (5 marks) °

s)’ ' ’

10 Fig.2 *
- > t(h)
' 0 -.:.A;,.-\ % g\l\)‘
L 0L -:\)g'
9. Fi:‘d t;;e sc;lu:ion set for the inequ +1 =< 17 and represent the solution on a number line
A ohan + '

(5 marks)
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......................
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------------------

' . 4 e~y S
top of a cliff 50 m high sees a ship at a bearing of 120° and later on obsery

ring of 135°, Calculate the di D withi
o 3%’\ i e distance travelled by the ship within these observat

es it coming towards the
tons, to one decimal place.

(6 marks) -
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, . . - f500 '
- 11 In order to plant a pole NT, a builder placed two supporting bars AT and BS against the pole making angles(g )
' and 60° respectively with the floor. Given that the distance AN =300 cm.

Find the length of

(a) the pole, NT

B G
S PP LI L L UL LRI

(b) the bar BS given that ST = SQ cm.
\ [T v UL Sl
ST r

i2 Thc:points A and B have position vectors 3i + Zji i respectively. Given that the point D has position
vector 11i — 2j and is such that 0D ?m 0A —
’ Calcu'ate the Values Ofm and n -----------------------------------------------------
................................... ;
0) are such that A = B. Find the
| B ° (5 marks) .
1" -
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14, Triangle ABC with coordinates A (3, 3), B (5, 3) and C (5, 5) is rotated through 180° about the origin O. Determip,

the coordinates of the image of triangle ABC.

< -

15. The table below shows how a housewife spends her monthly income.

(6 many
~ ™%

—

Item

Food

Rent

Amount (FCFA)

40000

20000

\
S -5,
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SECTION B

~ ANSWER ALL FOUR QUESTIONS IN THIS SECTION.EACH QUESTION CARRIES 15 MARKS

1. (i) A student’s pocket allowance is her profit from buying and selling 3 packets of sweets every week

of 5 school days. |
Given that she buys each packet of 45 sweets for 700 FCFA and sells a sweet for 25 FCFA, calculate:

(a) Her selling price per packet

(b) Her profit per packet

(c) The student’s weekly profit

(d) Her average daily pocket allowance

(ii) A man bought a bottle of champagne (C) and two bottles of wine (W) at 8 000 FCEA, whil er man
bought two bottles of champagne and three bottles of wine at 14,000FCFA from thesame shop.
(a) Write down equations relating champagne and wine ' :

hence ’

(b) Calculate the cost of each bottle of champagne and each bottle of wine.

4

E
Fig: \ >
Figure 1 is a Venn diagram indica ber of elements in each region.

Given that n(E)=22.
Find

(@) n(ANG B ’

(b) n(
©T ) S

that A C =.D, state the relationship between the sets Dand C

the functions fand g defined as

X

X#E2
x_.

g:xH5-2x,xe R,

Find -
(@) g(=2)
(b) f'in asimilar manner

(c) fg(x) .

— I Turn Over
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3. (i) On the same axes and using a scale of 2cm to | unit on the x-axis and Icm to 2 units on the
y-axis, draw the graphs of f(x) = 2x2—6x—5 for=2<x<5 and y=x+3.
From your graph, determine the value(s) of x for which
2x?-6x-5=x+3
(i1)

(a) Construct an equilateral triangle ABC of side 8cm.
(b) Construct the incircle of triangle ABC
(c) Measure the radius of the incircle.

4. (i) Linda is designing shorts for nursery school kids. She needs to know hew lon make the legs.
e shown in this table

She measures the waist-to-knee length of 100 nursery school kids. The It

L g

Waist- to- knee length (in cm) __Frequency I
32<i<34 3
34<1<36 16
36 <1<38 47
<l < 40’ 25
40< <42 5
42<i < 4

(a) Copy and complete this ¢ ncy table
Waist- to- h (in cm) Cumulative Frequency

<1<38
38< <40
40<(<42
42<1<44

ulative frequency curve for this data,

Braph to estimate the median waist- to- knee length.

e ecides 10 make shorts for waist- to -knee length in the range 35c¢m to 39c¢m
timate the percentage of her sample that the shorts will fit. '

B

iven that OF =2i+J and 0§ =51—3, find [PQ|
Fl_g’urc 2, _slmws a vector diagram, such that .
0A=g,0B= b and the ratio AX:XB = |3

Express AB and XB in terms ofgand b




